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10 A 73 EMERFEHER

56 . — MR TERSE [$5M 8 IR (£5))

BR5EH an B Bifi | %8 | £%8 |K=| £%8 | = | £ ik
108148 |F /34 100 37| 3,700 0 37| 3,700
108178 &/ 8/ 100 10[ 1,000 0 10/ 1,000
10A17B|FUFUE 50 56| 2,800 10 500 46| 2,300
108188 |FU % 50 46| 2,300 46| 2,300 0 0
104288 | GAS)| 100 15[ 1,500 0 15[ 1,500
0 0 0 0
0 0 0 0
- TAVAY fad 100 47| 4,700 0 0 47| 4,700
FUTUE 50| 102| 5,100 56| 2,800 46| 2,300
BREFGEEE) ]| 100 15 1,500 0 0 15) 1,500
gt 164 11,300 56| 2,800| 108| 8,500
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11 AR ERERFT AR

56, — MBI [$5MHEE R (£3))

HR5E H i B Hifi | %8 | %8 |%&5| %8 |88 | £ 5=
MA4B|BR X @R{FE)|  100] 227| 22,700 172 17,200 55| 5,500
AR |EH+F GAR) 100]  132| 13,200 130| 13,000 2 200
11A108 |8 +F GAR) 100  149] 14,900 | 129] 12900 20| 2,000
11A15B[BRF AR{FE)| 100 63] 6,300 23[ 2,300 40[ 4,000
118158 |F /31y 100 24| 2,400 0 0 24| 2,400
AR |ERFAREFE)| 100 1 100 1 100 0 0
A7 |F/ 1Y 100 4 400 2 200 2 200
11A18H[BRF GAR) 100 79/ 7,900 56| 5,600 23| 2,300
11H228 |8 4F GAR) 100 50| 5,000 38| 3,800 12| 1,200
11A248|F/ /84 F 100 16| 1,600 0 0 16| 1,600
11A258|ARX AB4HE)[ 100|146 14,600 | 126 12,600 20| 2,000
11A258|F/ /81 100 3 300 0 0 3 300
11A298|EHxF #B{FZ=)| 100] 100| 10,000 82| 8,200 18] 1,800
0 0 0
B (4B4+&E)| 100  537| 53,700 | 404| 40,400 | 133| 13,300
HE GAR) 100  410| 41,000 353 35,300 57 5,700
= PAVAY fat 100 47| 4,700 2 200 45| 4,500
&t 994| 99400 759| 75900[ 235 23,500
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12 A 15MERFEAER

56, — MM TR [5 M8 RS (E5))

#R5% H i B Bifi | %8 | %8 |8 | 48 | &8 | €% EE
12818 |BRFX@RFE)|  100]  127] 12,700 |  122| 12,200 5 500
12A58|BRF AR{FE)| 100 99| 9,900 99| 9,900 0 0
12H8H |HA¥F GRS 100[  157| 15,700 | 143 14,300 14| 1,400
128128 (B RF¥ #B{=)[ 100 150 15,000 124 12,400 26/ 2,600
12A138|EH*F (4B{F+Z)| 100] 105| 10,500 70| 7,000 35/ 3,500
128148 |B*X @R{FE=)|  100]  299] 29,900 [ 224 22400 75| 7,500
128158 |BRF GRFE)| 100 5 500 0 5 500
12A168|ERFAREFE)| 100 48[ 4,800 2 200 46| 4,600
12198 |B+X GRfFE)|  100[ 215 21,500 | 169] 16,900 46| 4,600
128208 |B*F (4R{F+Z=)| 100] 170| 17,000 170/ 17,000 0 0
128228 [ARX @RfFHZE)|  100[  271| 27,100 | 165 16,500 | 106| 10,600
12A238|ERAFARFE)| 100 60/ 6,000 40[ 4,000 20/ 2,000
128268 [A+F (#EFE)[  100[  303] 30,300 | 253 25,300 50[ 5,000
12H27H|HAF @R{FE)| 100 80| 8,000 80| 8,000 0 0
0 0 0 0
SESIGHED) 100| 157 15,700 143| 14,300 14| 1,400
BREX RfFE)|  100] 1932] 193,200 | 1518 151,800 |  414| 41,400
&t 2,089 | 208,900 | 1,661 | 166,100 | 428 [ 42,800
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1A 25BN IRFTEAER

56, — MM TR [5 M8 RS (E5))

#R5% H i B Bifi | %8 | %8 |8 | 48 | &8 | €% EE
168 |BRF HRMFE)| 100 49| 4,900 0 49| 4,900
1108 |BrF (HBfFE)| 100 66/ 6,600 50/ 5,000 16| 1,600
1108 |=>PY 50 25 1,250 2 100 23] 1,150
TANB|ERF AREFE)| 100 30| 3,000 30{ 3,000 0 0
1R128 |83 GAHE) 100 36| 3,600 8 800 28| 2,800
1138 |AxF GAR) 100 16| 1,600 7 700 9 900
1178 |HR*¥ #BftZE)| 100] 107 10,700 92| 9,200 15| 1,500
1H18A|BRF (R{FE)| 100 15| 1,500 0 15 1,500
1198 |BRF (RfFE)| 100 42| 4,200 0 42| 4,200
1H208|BRF (RB{FE)| 100 95| 9,500 95| 9,500 0 0
1238 |8+ (BHE)| 100 75| 7,500 75| 7,500 0 0
1H248 |8 X (#R{FE)|  100] 107| 10,700 32| 3,200 75| 7,500
1H26H|8RF (RfFE)| 100 70| 7,000 70| 7,000 0 0
0 0 0 0
0 0 0 0
SESIGHED) 100 52| 5,200 15| 1,500 37 3,700
BHR¥ (4B{FE)| 100 656) 65600 | 444| 44400 | 212| 21,200
ooy 50 25 1,250 2 100 23] 1,150
H 733|  72,050] 461 46,000] 272 26,050




